L s 2435050 1528 65 s
T arma AR B I T2L(2) BIE

1§ Grese-2)dr =5 (cd e3fizde -2 (e

g ;@ TE  “Thg

) 3 __37: & \"Jlxl

= —i’—Zz-{f%Z%-—Slell\

log 321 13 T

2) [ si26) de

3x+7-1T ¢en{, e 1105 e

o= %%o i C; E4 1+ fdz-: %—-

ki) Kb re {TnSL
g s (32 A = §9\\ht —”%— = -é' gsﬁuto\lf.
]2(9)\:')

—%(\Cosf) = -——;-(‘05(311‘2) //
N a1 (L



2
(5) (6] 254 7 20)] /Lt
v rdt {1
Se dr = S '{;fet=l€
271 =T ¢ H (¢ dZ» 2
s e o (-2'-6”‘ /

Lee )
SI@”‘ A2 )
(et bl o)t (1
34 9 g7



"

(3) ) e@® L % {;)/Z & *‘i -

| dz- (R % - Lk

v

= J.
t 3

43)

[

IV

_ 2 >
B q (31-}—2)2 //

&) g Tt dx

X+ -t TR BE LG (1 2T =g
£ | g :
F“ﬁi( *Q‘{"'_ & H - ,_.’__é_.
t S &0 AT Ax - 2z |

GV VET < € e A e B PR fey Tdi- tdt
2
- yhele
|

.'X.V—?-_0l,76= 1+ 2 = -Lt}:- 2 %-
g y sl g\t%t__ 3 3(1 +)) :t;'}‘



“

(6) gz»fx_ﬂ‘alz.

(%)LZ\ ). x-1=t & B2 2115 1) 2,

= A% rry dx-dt, 3= tel

:\[/\q‘ ;ﬁ"if?‘},)Z

gxl/’z_-('afx = g"(i‘fﬂz/jc«y{t

- o) de - (eide + (e de
EZ0 "
- F DT+t 4 W

(A1 2) 24425 2ons 500
VAT = 30t 5y TE - (3 0%) s,
(1077 - (i

= 7('(%‘(1—4)7) - (70 (Z@’DZ)A
= %I(x’lﬁ - ) J(C 510



